



नाम: _____

दिनांक: _____ स्कोर: _____

$$(3 + \frac{1}{4}) \times 5.1 =$$

$$(3 - 5.7) \times \frac{3}{5} =$$

$$(5 - \frac{1}{2}) \times \frac{3}{2} =$$

$$3(\frac{2}{5} - \frac{1}{2}) =$$

$$(\frac{9}{5} + \frac{108}{5}) \div 9 =$$

$$(2 - 4.2) \times 2.8 =$$

$$3(\frac{2}{3} + 2.8) =$$

$$4(2.4 - 2.9) =$$

$$(4 + \frac{1}{3}) \times \frac{2}{3} =$$

$$2(\frac{1}{2} - 3.2) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$(3 + \frac{1}{4}) \times 5.1 = \frac{663}{40}$$

$$(3 - 5.7) \times \frac{3}{5} = (-\frac{81}{50})$$

$$(5 - \frac{1}{2}) \times \frac{3}{2} = \frac{27}{4}$$

$$3(\frac{2}{5} - \frac{1}{2}) = (-\frac{3}{10})$$

$$(\frac{9}{5} + \frac{108}{5}) \div 9 = \frac{13}{5}$$

$$(2 - 4.2) \times 2.8 = (-\frac{154}{25})$$

$$3(\frac{2}{3} + 2.8) = \frac{52}{5}$$

$$4(2.4 - 2.9) = (-2)$$

$$(4 + \frac{1}{3}) \times \frac{2}{3} = \frac{26}{9}$$

$$2(\frac{1}{2} - 3.2) = (-\frac{27}{5})$$